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‘Gaurela-Pendra-Marwahi’, is a newly formed
district of which state?

(A) Chhattisgarh
110 31-03-2021 141 (B) Tharkand (A)
(C) Haryana
(D) Odisha
Which state had announced that the Sanitary
personnel employed by urban and rural civic bodies
shall be called ‘cleanliness workers’?
(A) Kerala
110 31-03-2021 142 (B)
(B) Tamil Nadu
(C) Karnataka

(D) Maharashtra

Headquarters of UNO are situated at
(A) Paris

110 31-03-2021 143 (B) Geneva (D)
(C) Haque (Netherlands)

(D) New York, USA

For purifying drinking water alum is used
(A) for coagulation of mud particles

110 31-03-2021 144 (B) to remove gases (A)
(C) to kill bacteria

(D) to remove salts
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“PARAKRAM DIWAS?” is planned to be celebrated
by Government of India every year on 23rd January
in memory of birthday of ................. to inspire
people of the country, especially the youth, to act
with fortitude in the face of adversity, and to infuse
in them a spirit of patriotic fervour.

(A) Nawab Pataudi
(B) Netaji Subhas Chandra Bose
(C) A P J Abdul Kalam

(D) Sardar Vallabhbhai Patel

In question below, the passage consists of six
sentences. The first and sixth sentences are given in
the begining. The middle sentences in each have
been removed and jumbled up. These are labelled as
P, Q, R and S. Find out the proper order for the four
sentences.

S1: A young man was trapped overnight on the
Himalayas in minus 5 temperature.

P : The patient had been brought back to life and
needed some days in intensive care.

Q : On arrival at the hospital, his body temperature
was 22 degrees Celsius and he showed no signs of
life.

R : After two hours on the machine his body
temperature had risen to normal.

S : The patient was immediately connected to a
heart-lung machine to establish an artificial body
circulation.

S6: He suffered no after-effects and the
resuscitation was a success.

(A) PQRS
(B) RSPQ
(C) QSRP
(D) RQPS
In question given below, a part of the sentence is

italicised and underlined. Below are given
alternatives to the underlined part which may

improve the sentence. Choose the correct alternative.

In case no improvement is needed, option ' No
improvement' may be chosen as the answer.
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Had she been hungry, she would have devoured the
whole of it.

(A) No improvement

(B) Unless she had been hungry

(C) However she had been hungry

(D) If she had been hungry

Replape the following with most appropriate
meaning.

Study of religion

(A) Philology

110 31-03-2021 148 (B)

(B) Theology
(C) Astrology
(D) Graphology
Choose the word nearest in meaning to bold part.
The inspector was a vigilant young man.
(A) Smart
110 31-03-2021 149 (B) Watchful (B)

(C) ambitious

(D) intelligent

Replace the following with most appropriate option.
An expert in writing by hand
(A) Chiropodist
110 31-03-2021 150 (D)
(B) Autocrat
(C) Funambulist

(D) Chirographer

110 31-03-2021 151 Look at this series: (D)
ELFA, GLHA, ILJA, » MLNA
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What should fill the blank?
(A) OLPA

(B) KLMA

(C) LLMA

(D) KLLA

Ecology : Environment :: Histology : ?
(A) Fossils

110 31-03-2021 152 (B) History ©
(C) Tissues

(D) Hormones

If in a certain code, SWITCH is written as TVJISDG,
which word would be written as CQFZE?

(A) BARED
110 31-03-2021 153 (B)BREAD (B)

(C) BRAED

(D) BRADE

How many times are the hands of a clock at right
angle in a day?

(A) 22

110 31-03-2021 154 (B) 24 ©)
(C)44
(D) 48

110 31-03-2021 155 One morning Uday and Vishal were talking to each ©)

other face to face at a crossing. If Vishal’s shadow
was exactly to the left of Uday, which direction was
Uday facing?

(A) East
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(B) South

(C) North

(D) West

A group of students decided to collect as many paise
from each member of group as is the number of
members. If the total collection amounts to Rs.
59.29, the number of the members in the group is:
(A) 57

(B) 67

(C) 77

(D) 87

A fruit seller had some apples. He sells 40% apples

and still has 420 apples. Originally, he had ... apples.

(A) 588

(B) 600

(C) 672

(D) 700

Raman salary was decreased by 50% and
subsequently increased by 50%. He has a loss of
(A) 0%

(B) 25%

(C) 0.25%

(D) 2.50%

There are 600 boys in a hostel. Each plays either
hockey or football or both. If 75% plays hockey and
45% play football, How many boys plays both ?
(A) 40

(B) 60

(C) 80
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(D) 120
When n is divided by 4, the remainder is 3. What is
the remainder when 2n is divided by 4 ?
(A1
110 31-03-2021 160 (B) 2 (B)
©)3
D)6
The process of evaluating suppliers is generally
conducted by comparing the suppliers in items of
their ability to provide the
(A) quantity, quality & service
110 31-03-2021 161 (D)
(B) quantity, service & price

(C) quantity, quality & price

(D) quantity, quality, price & service

In ABC analysis the 'A' items are which of the
following?

(A) high price
110 31-03-2021 162 (B) high rupee volume items ®)

(C) low price

(D) low rupee volume items

Safety stock is maintained to
(A) take care of fluctuation in production

110 31-03-2021 163 (B) avoid overstocking (D)
(C) protect against fluctuation in sales

(D) ensure better service level

110 31-03-2021 164 Which of the following is not a technique of Value (D)
Analysis?
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(A) design analysis
(B) brain storming
(C) price analysis

(D) contract review

The most important purpose for physical inventory
verification is

(A) to examine correctness of stock records
maintained

(B) to have a moral check on the stores department
personnel

(C) to judge efficiency of stores operation

(D) to form basis for materials planning

The technique suitable for inventory control in
industry is

(A) PERT/ CPM
(B) Value Analysis
(C) Material Requirement Planning

(D) Materials Handling Techniques

If'A' is Annual consumption in units, 'S' is cost of

placing order, 'I' is inventory carrying cost in decimal

and 'C' is unit cost in rupees then EOQ =

(A)

J@As/ch

(B)
J(24/scn)

©
J@AC/sSD)
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(D)
J(2C5/AD

For protecting the store from fire following are
followed:
(1) Inflammable material to be stored separately.
(i1) Lock and key arrangements.
(111) Fire extinguishers to be provided.
(iv) Safe custody.
(v) Sufficient light and air.
110 31-03-2021 168 (D)
(A)i,ii & v

(B) i, iii, iv & v
()i, i, iii & v
(D) i, iii & v

One of the following condition is suitable for storage
of flammable liquids

(A) High shelf

110 31-03-2021 169 (B) Direct sunlight )

(C) Warm rooms

(D) Well ventilated area

Which of the following movement types is used in
SAP for goods receipt from a vendor?

(A) 101

110 31-03-2021 170 (261 (A)

(C) 551

(D) 321

110 31-03-2021 171 A stock management unit is uniquely characterised (D)
by:
(i) Batch
(i1) Storage location
(ii1) Unit of quantity
(iv) Valuation
(v) Stock type
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(A) 1, i1 & iii
(B) iii & iv
O) 1,11, 1l & v
D)i,ii&v
Which of the following cost items can constitute
expenses of inventory carrying?
(A) Taxes on inventory

1o 31-03-2021 172 (B) Salaries & wages of purchase personnel (A)

(C) Entertainment of sale personnel

(D) All of the options

Ordering Economic Order Quantity (EOQ) results in
(A) reduced chances of stock out

110 31-03-2021 173 (B) equalisation of carrying cost and ordering cost (B)
(C) higher inventory carrying cost

(D) favourable procurement price

Inventory turnover is equal to
(A) Sales x Inventory

110 31-03-2021 174 (B) Inventory/ Sales ©
(C) Sales/ Inventory

(D) None of the options

Which of the following is a stock verification method
being followed in industries and organisations?
(A) Annual stock verification
110 31-03-2021 175 (B) Continuous stock verification (D)

(C) Low point inventory verification

(D) All of the options
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110 31-03-2021 176 are purchased items received that have not (A)

entered the production process. They include
purchased materials, component parts, and
subassemblies.
(A) Raw materials
(B) Work-in-process
(C) Finished goods
(D) MRO supplies
include hand tools, spare parts,
lubricants, and cleaning supplies.
(A) Raw materials
110 31-03-2021 177 (B) Work-in-process (D)
(C) Finished goods

(D) MRO supplies

Inventory serves as a buffer between:
(A) Supply and demand

110 31-03-2021 178 (B) Finished goods and component availability (D)
(C) Customer demand and finished goods

(D) All of the options

is a measure of customer service.
(A) Percentage of orders shipped on schedule
110 31-03-2021 179 (B) Percentage of line items shipped on schedule (D)
(C) Order-days out of stock

(D) All of the options

110 31-03-2021 180 Storing inventory requires (D)
and as inventory increases, so do these costs.

(A) space and workers
(B) workers and equipment
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(C) space and equipment

(D) space, workers, and equipment

The risks in carrying inventory are:
(A) Obsolescence and damage
110 31-03-2021 181 (B) Damage and pilferage
(C) Pilferage and deterioration
(D) Obsolescence, damage, pilferage, and
deterioration
is the costs incurred in the process of
making revenue.
(A) Income
1o 31-03-2021 182 (B) Cost of goods sold
(C) Expenses
(D) Retained earnings
Inventory carried for the purpose of providing
flexibility to each decision-making unit to manage its
operations independently is known as
(A) Cycle inventory
110 31-03-2021 183
(B) Pipeline inventory
(C) Decoupling inventory
(D) Seasonal inventory
The best strategy of minimizing the amount of safety
inventory to be kept in a store without hurting the
level of customer service is
(A) minimizing the uncertainty inherent in demand
110 31-03-2021 184
(B) minimizing the uncertainty inherent in supply
(C) minimizing the cycle service level

(D) reducing the supply lead time
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Higher demand uncertainty provides higher savings
by pooling which of the following inventory?

(A) Seasonal inventory

(B) Cycle inventory

(C) Safety inventory

(D) Decoupling inventory

Centralized system will provide benefits for the
items which

(A) are slow-moving

(B) are fast-moving

(C) have high demand variability

(D) are slow moving and have high demand
variability

The cost of insurance and taxes are included in
(A) Cost of ordering

(B) Set up cost

(C) Inventory carrying cost

(D) Cost of shortages

The minimum stock level is calculated as

(A) Reorder level — (Normal consumption x Normal
delivery time)

(B) Reorder level + (Normal consumption x Normal
delivery time)

(C) (Reorder level + Normal consumption) x Normal
delivery time

(D) (Reorder level + Normal consumption) / Normal
delivery time

Average stock level can be calculated as
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(A) Minimum stock level + /2 of Re-order level
(B) Maximum stock level + 2 of Re-order level
(C) Minimum stock level + 1/3 of Re-order level

(D) Maximum stock level + 1/3 of Re-order level

Stage in manufacturing cycle at which journal entries
are made in system of accountancy is known as

(A) chaining point
(B) recording point
(C) lead point
(D) trigger point

productivity depends on the type of
material equipment handling used, the location and
accessibility of stock, warehouse layout, stock
location system, and the order-picking system used.
(A) Labor
(B) Material
(C) Equipment
(D) Picking
A record must be maintained for each item in stock
showing:
(A) The quantity on hand and received
(B) The quantity on hand, received, and issued

(C) The quantity on hand and issued
(D) The quantity received and issued
If fast-moving items are placed the

receiving and shipping area, the work of moving
them in and out of storage is

(A) close to, increased

(B) close to, reduced
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(C) away from, reduced

(D) None of the options

An advantage to central storage is:
(A) Increased safety stock

110 31-03-2021 194 (B) General-purpose storage can be used (D)
(C) Users can carry their own safety stock

(D) Ease of control

Inventory errors are often caused by:
(A) Secure stockrooms

110 31-03-2021 195 (B) Trained personnel (D)
(C) Authorized withdrawal of material

(D) Lack of audit capability

A bill of materials lists the
(A) times needed to perform all phases of production

(B) production schedules for all products

110 31-03-2021 196 ©)

(C) components, ingredients, and materials required

to produce an item

(D) operations required to produce an item

The is(are) the MRP input detailing which
end items are to be produced, when they are needed,
and in what quantities.

(A) master production schedule
110 31-03-2021 197 (A)
(B) gross requirements

(C) inventory records
(D) assembly time chart
110 31-03-2021 198 The time period between placing an order its receipt (A)

in stock is known as
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(A) Lead time
(B) Carrying time
(C) Shortage time
(D) Over time
If the average demand of an item is 21 units per day,
safety stock is 4 units and lead time is 2 days, ROP
will be
(A) 86
110 31-03-2021 199 (B)
(B) 46
(C) 42
(D) None of the options
If demand is 500 units per day, and planned available
capacity is 420 minutes per day. The Takt time will
be
(A) 0.84 minutes
110 31-03-2021 200 (A)
(B) 0.6 minutes
(C) 1.19 minutes
(D) 2.1 minutes
Transaction code used in SAP for registering goods
entry at store is
(A) MIGO
110 31-03-2021 201 (B) MIRO (A)
(C) MES3N
(D) ME23N
110 31-03-2021 202 The bill of lading issued by air carriers to their (A)
customers
(A) Master bill of lading
(B) House bill of lading
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(C) Sub bill of lading

(D) Ship bill of lading

LCL means
(A) Low container load

110 31-03-2021 203 (B) Lateral container loading (©
(C) Less than container load

(D) Lateral container levelling

In inventory control and financial accounting, this

refers to the practice of using stock from inventory
on the basis of what was received last is consumed

first.

(A) FIFO

110 31-03-2021 204 (B)

(B) LIFO
(C) FILO
(D) LILO
The cost of goods sold / consumed divided by the
average level of inventory on hand.
(A) Inventory turn over
110 31-03-2021 205 (B) Cost of inventory (A)

(C) Average cost of inventory

(D) Total inventory cost

What does the third ‘S’ denote in 5S system
(A) Seiri
110 31-03-2021 206 (B) Seiso ©
(C) Seiketsu
(D) Shitsuke

110 31-03-2021 207 When the freight charges is to be paid by the (A)
202.191.132.32/postExam/qp_check_dashboard.php?exam=Y29jaGlubWFyY2h0d2VudHIvbmU 16/17



4/1/2021 202.191.132.32/postExam/qp_check_dashboard.php?exam=Y29jaGlubWFyY2h0d2VudHIvbmU

consignor it is called
(A) Freight prepaid
(B) Freight not paid
(C) Freight under paid

(D) Freight to pay

While receiving goods the warehouse must:
(A) Inspect goods if required

(B) Check for damage

110 31-03-2021 208 (D)

(C) Check the goods against an order and the
transport documents

(D) All of the options

A quantity of stock kept in storage to protect against
unforeseen shortages or demands

(A) Re-Order quantity
110 31-03-2021 209 (B) Minimum quantity ©
(C) Bufter stock

(D) Audited stock

The process of moving or resupplying inventory
from a reserve (or upstream) storage location or
facility to a primary (or downstream) storage or
picking location is called

(A) Replenishment

110 31-03-2021 210 (A)

(B) Return of goods
(C) Rejection of goods

(D) Goods receipt note
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